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Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 5521311168
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 55213113291 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

When a normal student behaves m an erratic manner in the class. you would:

&8 Fobm mCF';E_J SENES° oPrrde (B8N0 808053 9 do IFY?

Options :
Pull up the student then and there.
5030 D0 B2 JeBLEED
55213152201. ™ -
Talk to the student after the class.
S811& So=8 DTLE Sreptharid
55213152202. x

Ask the student to leave the class.

e ﬂmﬂ;g‘sﬁ SO DES E%’;E&:oe‘:ﬁ‘a
55213152203.



Ignore the student.

e PO HBoHE D
o [
55213152204.

Question Number : 2 Question Id : 55213113292 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

A teacher's most important challenge 1s:

&8 Garreaind (DerdDd Baren
Options :

To make students do their home work

Ejmﬂ;dg@ﬁ 20859 Jovosso
)
55213152205.

To make teaching-learning process enjoyable

*‘”’565—4"‘" 53 (BB wFEsss0 Jchto
55213152206.

To maintain discipline in the class room

SEHS KL (Bad ﬁ:‘*é" Jolulnle
55213152207.

To prepare the question paper

'-E""'Eﬂ_,,_‘:""h ?.'JCﬁ.."'“fl:'tﬁ
55213152208.

Question Number : 3 Question Id : 55213113293 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

A person can enjoy teaching as a profession when he
5 58 oG &V ST D0TBRPHEOE, ©SI8

Options :
has control over students.
DTHe T VADOER SR)ZPE
552131522009.
commands respect from students.
e ol T8 SPolda)d
[
55213152210.
1s more qualified than his colleagues.
JTFRErDe ST7) JE)S DudSen SOA SV
55213152211.
1s very close to higher authorities.
©L%eS Hod FYIRE0 SON eND®
55213152212.

Question Number : 4 Question Id : 55213113294 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Maximum participation of students 1s possible in teaching learning through:
*"qﬁ—n"""* B3 (HBcHs® “‘Dﬂ“é:a RSP Sd) DoRPotoT HKE
od oo o

Options :



discussion method

35%) B8
55213152213. '

lecture method

SRTR0 DS
55213152214, “‘

use of audio-visual aids

&% —-F5e SEFH56ere DI@FNOSEO
55213152215.

Activity based method
S\aeroed SRS D8
g o &
55213152216.

Question Number : 5 Question Id : 55213113295 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is not important aspect of the teacher's role in learning?

OfRN08 GPETae) (HErs PE Ao vodo HG?

Options:

The development of insight into exam pattern and scoring

$0E Do Jkure S0 ©LE S RHod Srgo drdosto
55213152217.

The development of insight into the pitfalls and dangers to be avoided

OgdNE° o BEotien HOD [EIrmreH ©fIiN0H JrSSD o
55213152218.



The provision of encouragement and moral support

P50 olcin I8 D vdrio

55213152219.
The provision of diagnostic and remedial help
SPOATBes SOAN AeBes SPsPEo ©oliodtso
55213152220, |

Question Number : 6 Question Id : 55213113296 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What do you consider as the main aim of inter disciplinary research?

DG Tpe HEHTROS B0SES TwE), Swgy e

Options :
To bring out holistic approach to research.
HOTEIE® 3o G5B Dofrodosto
55213152221.
To reduce the emphasis of single subject in research domain.
H50S5H505 Jonobod) o8 e Dobs voeR Hoddo Ihdo
55213152222.
To over simplify the problem of research.
HoGme S0 JEFo Jawso
55213152223.
To create anew trend in research methodology.
Do a":cgéo@oc&: SR eBad ﬁéﬁ&oﬁitﬁo
55213152224. )

Sub-Section Number : 2



Sub-Section Id :

Question Shuffling Allowed :

5521311169

Yes

Question Number : 7 Question Id : 55213113297 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Field-work in research is mvolved in:

SEFow DY M &) HoSHe 850
&

Options :
Empirical
WeELE
55213152225.
Historical
oS
55213152226.
Experimental
BIFrES
55213152227.
All the above
55213152228.

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 8 Question Id

3
5521311170

Yes

: 55213113298 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If a researcher conducts a research on finding out which administrative style contributes
more to institutional effectiveness ? This will be an example of

D Bodrore dopRo KodkNE MEFwS sS@ARITO™ SRUNn: of eodop ol

Options
Basic Research
BEo8 H0EHD
55213152229.
Action Research
Soedhs B0
55213152230.
Applied Research
@S0 H0-385S
55213152231. o
None of the above
RO Ty
55213152232.

Question Number : 9 Question Id : 55213113299 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is not correct?

18 - r.'\,f;*' wh = Ty v T e P )
=00 TFPul” T (B3&aarlicn &

Ly



Options :

Obyectives of research are stated normally 1n first chapter of the thesis

Fordmore H08°G 006’ Imiid ermaodt S0 ogred B0,
55213152233.

Researcher must possess analytical ability
0D DI o) 59 somd
55213152234.

Variability 1s the source of problem

S6de Srordo $0SE5T Shrdres agrto
55213152235.

55213152236.

Question Number : 10 Question Id : 55213113300 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A null hypothesis states that

Sy (DN (PSR 3eR 0D

Options:
There 1s no significant difference between the variables
SorHeBH e rHGoSENS Sonogo B
55213152237.

Same as research hypothesis

HOSES (DEONSBI Gotnod
55213152238.



Research results are predictable
HeSETe HDTren SVOHITE &3ZrPoSSASEMT SOt
55213152239.

There is a significant difference between the variables
Sorde g MHZoBENR Somoio St
55213152240.

Sub-Section Number : 4
Sub-Section Id : 5521311171

Question Shuffling Allowed : No

Question Id : 55213113301 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :

Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In

Seconds) : 0 Allow Volume Control : Yes
Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage and answers the questions from 11 to 15:

The IT'Ts are now under the scanner of the Supreme Court following an SLP for allegedly continiung
irregularities and bungling in JEE for admissions. The apex court has issued notice to the Ministry
of HRD. The SLP was filed by a CS Profat ITT Kharagpur challenging the dismissal ofhis PIL by
the Delhi High Court in June 2010 on the ground that he had no locus standi to challenge the
validity of JEE. They are vet to disclose the complete data of JEE 2010. The evaluation scheme
was changed after the examination and there were serious flaws in admission counselling based on
JEE 2010 results.

The SLP also called for a single entrance examination. replacing all existing exams as IIT JEE.
ATEEE and State exams. It further says that the RTT data on JEE was ridden with many discrepancies
as adhocism in cut off determination. unattended errors in question settings/evaluation. tampering/
shredding of ORS inundue haste. selecting IIT administrators’ wards in some ITTs. closed admission
counseling resulting in irregularities in admissions and seats lying vacant. zero accountability for
attending to apparent etrors, poor ethics in JEE administration etc.

Proposals for corrective reforms have also been suggested in the SLP. A committee of independent
experts to formulate single examination system rather than close-door committee of four IIT
Directors too has been suggested. It has proposed seven reforms for JAB including release of
model answers along with solutions immediately after the examination is over, releasing of marks
at the time of results besides publishing status of vacant seats and filled-in seats on day to day basis
during the adimission counselling.

11 0od 15 565 e DHeD Sonofods arggricn & (8ol andsl. TG e 5 oy

T, e D04 STman. DY edpd Trabarlo R SNte éao{g‘iéé;-soape*h :ssax-o
0 DROED D TR erroeen THJ, A CS
] ' L

Bos DplosB. H8E A EPoNN SBHTE Srevos TR SrgKEn @ocke JEE 2010

¥

$Dzre uprborr (HIwe 550 2083 TR0 rer S SParen eTmom ©F Jarto ¢ob.
(BusEo o’ &) 0 (BIT éég@awa}oﬁ IIT JEE. ATEEE b0 U"L‘éoﬁe o) g;f,g )
205 6w 570 SLP Sree 2enyReod.

SEITEIR UL.'..-_: pela=lb 5 [BPEGR o utse] Q0. S

Do SR J0LT Do Bne @) (DerCHe Sree SLP &° Srdodnémron. SHeo mexd IIT ©

-
& 08 o8 Fr¥o@Rnsod Sonoss $PFE* dYweorr oG dgore

al
2N
G3,
&
£
eh
Ch
&
25
U
o4

Jl]

DTN BT GRS 2 ERon. HE3 $rlons Dowwm POEEeS el Trid SErTrrY
DHBeE e HERH SodBme Srwe SLP (B8F00000. Phoeen w&o’&!oaﬂw—‘éﬁ Jhse T
Sres® S e 65 by Dvrer Srwe (B:hCod HEER Hiukw [HIHE TRDRES® Swrbm

]

256 oons besizren o S (HH003 DY) enddo e Dgowodol.

Sub questions

Question Number : 11 Question Id : 55213113302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes



Correct Marks : 2 Wrong Marks : 0

What 1s wrong with II'Ts now?

STy [ITS® 2200 ST HNE?

Options :
They have academic freedom.
08 TR0 KooGodS R &0l
55213152241. =
The get enough funds.
SN Agben FPoth&HT
55213152242.
There 1s mismanagement of admissions.
D& SerovoPudteisssten
55213152243.
Education in ITTs 1s very expensive.
[[Ted® 5tH) Trer pERIt.
55213152244,

Question Number : 12 Question Id : 55213113303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

Why did the High Court dismiss SLP?
';3;"?% SLP Q0595 89 Jooh?
Options :

It has no truth mn 1t

TR SH0 B
55213152245.



Itis expensive
30 o RS0
55213152246.
Plamtitf does not belong to that area
Ro0dD & [FromEdl Told T R
55213152247.
The data was not correct
eR RORO =D
55213152248.

Question Number : 13 Question Id : 55213113304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0



Which are not discrepancies of JEEs?
JEE G &°aren 5200 2D?
1L Cutoff determunation
Sedesn Q8o
1. Mistakes in question settmgs/evaluation
©H3 oD Ddord Do Srerostes® Edpen
m.  Tamperng of ORS leisurely
ORS 9 Taylre Shosto
. Selecting IIT administrators " wards i some ITTs
IIT Qoviren ) TEED 008 550
v.  Closed admission counseling with uregularities in admissions
$BEPRo®, B (H3F @B eEsren
.  Total filled seats
0 Dol Se DSoeen
vi.  Non-accountability for errors
e uromebsso 86
vi.  Bad ethics in JEE admuinistration

JEE ©&° ¢385 devde [@rsngrs

Options :

111 and vi

111 3050 Vi
55213152249,

nandv

1300 v
55213152250.

55213152251.



v and 1

Vil 300w 1

v and vit

1V s08ctn v
55213152252.

Question Number : 14 Question Id : 55213113305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the plan of the SLP?

SLP &n%) (Heds o20d?

Options :

To conduct a common entrance test

2.8 Arrde (BRE a..L.-S QG roSEeRs
55213152253.

To conduct tests at various levels

EeEAlw] :‘ﬂom &° ($3¥ HEZen RE-irosto
55213152254.

To mvite foreign admissions

Do BBTERos e Dosto
55213152255.

To mvest further m education

a,ci@" 00od mu”“ﬂ -y eﬁe:cﬁo
55213152256.



Question Number : 15 Question Id : 55213113306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

How can the examination system be improved?

SO D Der HIHDHDOL?
-

Options :

By going for online assessment

OIES 2RVoT D Ko T
55213152257.

By mntroducing CBTs

CBT o $0sabo Hahiso wooe
55213152258.

By making the examination descriptive

Davere)s 865 oo
55213152259.

By implementing the reforms

JoBred v Iabio TrT
55213152260. s
Sub-Section Number : 5
Sub-Section Id : 5521311172
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 55213113307 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following 1s called dyadic commumnication?

& (@00 8 DO BES 55 dNAT 09 DeSntHEod?

-

Options :

Intrapersonal communication

0I0F TR SredBHaS
55213152261.

Iutelpemoual commumication

5088 HHNS émﬁ::s’iﬁ
55213152262.

Group communication

PEPErS SHTTIEHS
55213152263.

Mass commuunication

P 2RS S0 OSES
55213152264.

Question Number : 17 Question Id : 55213113308 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Some of the following lines are not related to oral communication. Find them out;
& (8ob Doed® FR) TS Sirmd (@Hrcod® Sonogo 30N BY. ED STk,
1 [tisspontaneous and natural
50 SPEREDIO SO SPEDI
i [tisnotnatural
30 BP0 D
m Itiseasy for others to understand
s8heD ebo TE%iko ego
v, Itis somewhat difficult tounderstand
20 Fos S8 eo RS0 %0
v. Itdevelops a good relationship between a speaker and a listener
50 35 B0 JRr0 Hify Hod donored) §HA Fhod
v Choice of words 1s one of the major things
Hro Q085 @R0 (SN FaE wid
vii.  Itis supported by non-verbal communication
50 Bisrd SirarS (@ERrdo eraed) pedtRol
i Itisnot co-related with non-verbal communication
20 BUrd SarmroeRd SiFEdonotio =
The right answer according to the code i

55 (Hz80 $BX SaireFRo

Options:

L uandiv

1. 113508 1v
55213152265.

v. viand vi1

V. V1 2508050 vil
55213152266.

viL viil and 1

Vi1, Vi1l 00 1
55213152267.



1. 1vand v

11, 1V 300 Vil
55213152268.

Question Number : 18 Question Id : 55213113309 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the followmng :
& |Bol D wED0d

List -1 List-II
=lr-1 i -2
1. Physical Barriers . Semantics

T85 o 8 Boewsialn (ReiroéS)

2. Psychological Barriers b. Technology
SRRRE eode POSBES (Bed)
3. Lngwstic and Cultural Barriers c. Hall Temperature
‘ B i 5O e288
P4 HOa oK) 185 vhowe i3
4. Mechanical Barriers d.  Self-image
ol L2
DRSS eione o) Higw
Codes:
G
Options :
l-c, 2-d, 3-a, 4-b
552131522609.

1-b, 2-d, 3-a, 4-¢
55213152270.



55213152271, 1-& 2-d; 3-¢, 4-b

1-d, 2-c, 3-a, 4-b
55213152272.

Question Number : 19 Question Id : 55213113310 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

communication includes individual reflection. and contemplation.

RoFRE’ ai;%r’ié @800 DO DINV0 ST,

Options :
Intra
2ESBo
55213152273. =
Inter
LOHSS
55213152274, 2
Mass
e e
55213152275.
Oral
%ﬂ@.g
55213152276.

Question Number : 20 Question Id : 55213113311 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the most important quality of a good teacher?

o) rHhsy ny) B8 ey eFeo Hnd?

) [y

Options :

Written commumnication skill only

088 J3rerordS KowoGoH Jeo IrE
55213152277.

Command of the subject

RT3 WBI Hew 50N oo
55213152278.

Distance from the students

e ool Erdore ot

o

55213152279.

Compassion for students

e ero 580 eoliéco

=) [

55213152280.
Sub-Section Number : 6
Sub-Section Id : 5521311173
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 55213113312 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



A tram of length 120 meters long travelling with a speed of 54 kmph can cross a bridge of length X
in 30 seconds. The length of the bridge X (in meters) 1s

X Qe T $08%D 120 DY Pyie Ten, fotrdh 54 858 Twe Holrdr 30
26008 TEI6. 8 H088 TS ()

Options :

55213152281.

120
55213152282.

450
55213152283.

55213152284.

Question Number : 22 Question Id : 55213113313 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The compound mterest on the principal amount ‘P* for two years with the rate of 8% p.a. 1s Rs.
2.496. 1f the mterest 15 compounded annually. Then principal amount ‘P* 1s (in Rs.)

ATOQPN0 P’ 2 W06 )05 8% :Jt;is WP, B0 006 008 o B8 ar. 249
(509805055 BERKED HBB), @ond HFedN0 Errahod)
Options :

12,000
55213152285.

2496
55213152286.



15,000
55213152287.

20,000
55213152288.

Question Number : 23 Question Id : 55213113314 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘A" and ‘B’ mvested an amount Rs 21,000 and 17,500 respectively in a business. At the end of the
year, they make a profit of Rs. 26.400. Their individual shares m the profit s

2.8 T5rlsne A HOOM B © DEPBEN SEXT EF. 21,000 O 8r. 17,500 2,
N0 YTP0eh TO eraiand &, 26,400, 7ol & 0 aeren (&, 0F)

Options :
1.440: 1.200
55213152289.

14.400: 12.000
55213152290.

12.000; 14.400
55213152291.

1.200:; 1.440
55213152292.

Question Number : 24 Question Id : 55213113315 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If P’ can produce 60 cakes in 9 days and ‘Q” can produce 70 cakes m 21 days, The number of days
required to produce 100 cakes together (in days) 1s

P “‘*\J“feo 60 Hod 9 Szod sardBodiod. B ek 10 oo 21 Sred
Xr&Tahko. 8890 0% 100 30 ) Fred dordEs ’%@fo’

Options :

3
55213152293.

9
55213152294.

10
55213152295.

11
55213152296.

Question Number : 25 Question Id : 55213113316 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The missing number in the following sequence 1s:
1806 ngc‘fméé S HODS QO
4,12, 84, 3612,

Options :

6526884
55213152297.



6523272

e

55213152298.

Fep il
55213152299.

14448
55213152300.

Question Number : 26 Question Id : 55213113317 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The missing group of letters in the following sequence is:
i b b Y v, W
808 E00S” SD0DS @0F T°e HAFTO:

SAB, RBB, QCD,PDD, =, NFF

Options:

CBY
55213152301.

55213152302.

OEF
55213152303.

YD
55213152304.



Question Number : 27 Question Id : 55213113318 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

‘CGIN’ 1s related to “ACDEF’. in the same way ‘DINQ’ is related to
‘CGIN’ & ‘ACDF’ & 0200850 §0¢%. eF dsnm DINQ’ & Ho20855m

Options:

BEHJ
55213152305.

BEHI
55213152306.

BEGI
55213152307.

BEGI]
55213152308.

Question Number : 28 Question Id : 55213113319 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

In a certamn code language, 1f the word ‘SPHERE’ 1s coded as EREHPS, then how 1s the word
"EXHIBITION’ coded in that language

2.£ 0% §6 2726 SPHERE 00 ‘EREHPSTT 44000, & 66 27i® EXHIBITION’ 30
Jer §8 &onad

Options :



NOTITBIHXE

55213152309.

NOITIDIHXE
55213152310.

NOITIBIHWE
55213152311.

NOITIBIHXE
55213152312.

Question Number : 29 Question Id : 55213113320 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

X+Y means X 15 the son of Y. X~ Y means X is the daughter of Y. X x Y means X s the father of

Y. X/Y means X is the mother of Y. IfAxB/C-D/E. then A ts related to E i3
X+Y @ X, Y G08) . X- Y @dm X, Y 008, Srehd. X x Y o X, Y 008} ok, X/ Y
O X, Y 0% 0. AxB/C-D/E @ond A0 E &Ko H50aodm

Options:

Husband

230
55213152313.

Brother

FOBCD
55213152314,

Uncle

23°23P00 / 623%6N)
55213152315.



Brother in law

27 / 2”000
55213152316,

Question Number : 30 Question Id : 55213113321 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

In a class of students, 35 play cricket, 65 play football and 20 play both cricket and football. How
many students play at least one game.

28 SSEBSR Ao 55 500 B3 edad, 65 006 HEr)S sdeEd, HO0 20 H0O
Boch sten (B35 A H)er)6) ederd. Sdno 28 et e driden Jodd

Options :

100
55213152317.

120
55213152318.

&0
552131523109.

20

55213152320.
Sub-Section Number : 7
Sub-Section Id : 5521311174
Question Shuffling Allowed : No

Question Id : 55213113322 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In

Seconds) : 0 Allow Volume Control : Yes
Question Numbers : (31 to 35)
Question Label : Comprehension

Note: The questions Q. 31 to Q. 35 are based on the following information:

Habd: 9400 Q.31 0 Q.35 508, 808 darardo errdom &) on.
The number of students passed in class X of a school, in the three sections A, B and C , i four
subjects: Mathematics, Physical Sciences, Biological Sciences and Social science, is presented in the
followmg multiple bar diagram. Assume the number of students i each section is 40.
W TS, 105 s518S, 2, B Q00 ¢ oF Srd drrod, Tol dadred:
i, T8 TR, A9 TR SO Fod T & 48888 dde doay, &
Bod amd Tyrdgos WébptaFw. W8 drfoda Amde wog; 4w

4000080 &arohsod,

Mathe Physical Biolog cal Social

Sub questions



Question Number : 31 Question Id : 55213113323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

The maximum possible number of students in section A, who passed in all the four subjects is,
o 'y ] T .Y 4 4 v, £ P S I Y A i
derko A S &) deded, Tend oo, K8a0T Gad)B dmide do;,

Options :

28
55213152321.

31
55213152322.

39
55213152323.

26
55213152324,

Question Number : 32 Question Id : 55213113324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

Out of the number of students passed in Physical Sciences, the pass percentage of students in section
Bis

T & — &y
FRETIT0S 68088 dde 2093, 8B 62 6808 dode Téo

Options :



55213152325.

31.95
55213152326.

32.98
55213152327.

35.05
55213152328.

Question Number : 33 Question Id : 55213113325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The number of students in section C who failed in biology is

TR, b oo e = f — T T " .Q’—:'ﬂ"\ﬂ*-. n o W e
BT R0 ORI, WE® 'C' SR T ;DO DO

Options:

55213152329.

55213152330.

11
55213152331.

14
55213152332.



Question Number : 34 Question Id : 55213113326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

On the three sections. the percentage of passing students in Mathematics is
Lurch Derme IS0, idsoS B o idhe Teo

Options :

40.3
55213152333.

68.4
55213152334.

13.3
55213152335.

80.8
55213152336.

Question Number : 35 Question Id : 55213113327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

In which subject 89.166 percentage of students passed ?
P w4 = o - &y ;
D DACHO S 89.166 T°H0 HOO &3

Options :

55213152337.



Mathematics

HE3es 50

55213152338.

55213152339.

55213152340.

Physical Sciences
2T edE A e

Bilogical Sciences
2805 T Q3

Social Sciences
RO PAVEIE K [NV

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

8
5521311175

Yes

Question Number : 36 Question Id : 55213113328 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
MICR stands for

MICRe&T

Options :

55213152341.

55213152342.

Magnetic Ink Character Reader

OIHTOS VTP BZTD) SO36

[="9

Magnetic Ink Code Reader

OIS VTP 558 3030



Magnetic Ink Cases Reader

©IHI8 bo ShHeod SO
55213152343.

Magnetic ink code recorder

©IHFES doe 558 TR0
55213152344,

Question Number : 37 Question Id : 55213113329 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s embedded system?

QoTRE 5358 2d?
¥ @

Options :
The programme which arrives by being wrapped in box.
a5 ffn....' B'Ju @tm.’ﬁ

55213152345.
The programume which is the permanent part of the computer
Soel &8 gritorr Hot [BHrd

55213152346. =
The computer which 1s the part of a big computer
Y Sogeel grriore $o% Soxgeerl

55213152347.

The computer and software system that control the machine

a8 aholerd) B80T Sogeed ook FHI6
55213152348. = = "



Question Number : 38 Question Id : 55213113330 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Options :
Cookies
5r8)
55213152349. )
Plug-ns!
SR-38
55213152350.
Scripts
(8953
55213152351. ko
ASPs
55213152352.

Question Number : 39 Question Id : 55213113331 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Protocol used by e-mail 1s

e- oS 6 Fe® =5

Options :

FIP
55213152353.

TCP
55213152354.

ID
55213152355.

POP
55213152356.

Question Number : 40 Question Id : 55213113332 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

As apart of Government to Business (G2B) intfiative the Government of Inidia has started the

followmg protral

(©B30&0 Dol ardaro (G2B) & wriforr 88 (B3080 (EF80fods Eb"ﬁgab"

Options :
GEM
Tatesl Dy
55213152357.
Diamond
o

55213152358.



Gold

selelgilele)
55213152359.

Chanakva

eeese
55213152360. -

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

9

5521311176

Yes

Question Number : 41 Question Id : 55213113333 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Chipko movement is a public agitation that occured in

Ty

2% stirho a8 20nol.
Options:

Mansbal area of kashmur

58,86°0 Srdfad (Frdo
55213152361. =

Silent valley of Kerala

-

8P Do

il

55213152362.

Sunderbans area of Bengal

Torre Jols 55;3
55213152363.

55213152364.



Ther1 Garhwal area of Uttar Pradesh

&8BNTIE®D BIr 1OS (Frodo

Question Number : 42 Question Id : 55213113334 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Higher amount of sulphur -dio-oxide (SO,) is emitted i the atmosphere by —

FES8eos® vfsor ¥e)6 Be8)E (SO,) & dbthe TR
Options :

Sugar Industry

S8 HOIER
55213152365. a

Thermal Power plants

585 D8 Soren
55213152366.

Food processing industry

©FE [aranof R0
55213152367.

Bulk drug manufacturing Industry

TR whs EJ.-'E.;.D SAPHTAD HOEH
55213152368.

Question Number : 43 Question Id : 55213113335 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Who said that the forest should be saved not because they are beautiful or because they shulter

wild creatures of the wilderness, but to only provide homes are jobs to people.

wotio 55ar B8 S de yievRs el =¥ BaeD 60, S Anerdd

©UIod Srbéored 00 ASh?

Options
Aido Leopold and Rachel Carson
08 OTFrS, O3S 2885
55213152369. =
Theodore Rosuest and pinchot
OTeE S S, Dot
55213152370. -
John muir and wangal Maathai
PR auronb, sond drmedd
55213152371.
David Brower and Barry Commoner
GO8 (58, =6 =0s8
55213152372.

Question Number : 44 Question Id : 55213113336 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Developing Nations were commutted fo drawing up their own plans for the emission reduction

for the first time m

e T0LER) Taped 4TFT0 B10GH 85 $r08 (HemdSe doind & SirFddod® Moot



Options :
Cop-20 Lima Climate Conference

.

B, r B s sl e, . el - all”

NEa=20 Dae Horratits Jarado
=

55213152373.
Cop-19 Warsaw Climate conference
& =19 Troe Hoereites & SrRdo
55213152374.
Cop-18 Doha Climate Conference
2e.2-18 P Homtes JErIdo
55213152375.
Cop-11 H}-’derabad climate conference
ded-11 Frioeerd HoeHde Sarado
55213152376.

Question Number : 45 Question Id : 55213113337 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The 2018 meeting of the G-7 Countries + k place in La Malbaie, Quebec, Canada and Donald
Trump administration officials even declined to use the phrase ‘climate change’ and instead talk

about
20186° e Srdirdh, 785, Sxeedt 20AS &-7 Do Sar3dodt ﬁ?mv ©0% ©lsd

=5
@&Per Dot Sr) OF Hed) PULPAS 859000, S0t atherr & %

Options :
Environmental resilience

Poerato umfad
55213152377. o



Sustainable Development

-

Ral(rday B
55213152378.

Ecological Economy

©0s Dot
55213152379. . =

Environmental Audit

JD"':wé..:.a..'ﬁ-DFF Fslabnsilalels
55213152380.
Sub-Section Number : 10
Sub-Section Id : 5521311177
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 55213113338 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Today's Education system at higher education level is :

IO D I - SN DT %noaafﬁ & DFore &)

Options :

Supports traditional nature of teaching

Fodah S BEBD Doy
55213152381.

It is complex in reaching people

55213152382.



Imparts education according to social stratification

GeeloL-evt] ébé £ (@se8o DRotdol
55213152383.

Imparts same education to all strata of society

J3re06t) ©f Scre 08 e B 85305 SrS00%00
55213152384,

'L

Question Number : 47 Question Id : 55213113339 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Autonomy in higher education doesn't include freedom for the institutions in:

= :;u

ﬁé&e’ &:F“R.’r:@ Erdhded "‘"w‘@ﬁ ) &oéwﬁo =

Options:

Achnjnismﬁoﬂ

HOTPeOTTOoTD

55213152385.

Policy-making

HEseoRd Brarofiosto
55213152386.

Fmance

elsroTeeD
55213152387.

Curriculum development

iﬂm‘;m?u DseRdo
55213152388.



Question Number : 48 Question Id : 55213113340 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Environmental education is important for the students of higher education because

68 [LHR0D e dovEte: D Erangro QothERm?

o

Options :
to give them expert knowledge
DHSH JHee; HPrY) wolEcHRS
552131523809. '
to develop their awareness
BTN DOl oSS
55213152390.
to make them responsible for taking care of environment
QDoeites HOOFRH wrLid HirolteR8
55213152391.
to leave them with their own choice towards future environmental consequences
A8 HorStes HorESTFeN $020008 O Hrah efSSH S0DTahmDS
55213152392. = =

Question Number : 49 Question Id : 55213113341 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

NAAC is an autonomous institution under the aegis of:

Jraho (H858He S0 NAAC 50 86508° HOTND?
3]

Options :



8. 2. DR, wR.es8
55213152393.

CSIR

. . 0.8
55213152394,

AICTE

a.0.0.8.9
55213152395.

UGC

Bk = 2

55213152396, o0&

Question Number : 50 Question Id : 55213113342 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Ancient Gurukulas differ from modem residential schools m providing except th following :

Yo oo™ MthHerer BHS BEDH FTeed®d Boff W) e.58 &) Shdrare

EZE:O:OBSJ

Options:
Accommodation
C‘C—..n\rﬁu{-r:\cm

55213152397, o o
Knowledge
DRSH DoeeRo

55213152398.

55213152399.



Vocational skills

A
odn€d
- =

%

fed

Universal Access

8BS ©othoren

55213152400.

Group Number:

Group Id :

Group Maximum Duration :

Group Minimum Duration :
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

PHYSICAL EDUCATION

2
552131176
120

120

No

No

0

200

No

Cant View

No

PHYSICAL EDUCATION

552131176
1

Online
Mandatory

97



Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

97

200

Yes

0
1
5521311178

Yes

Question Number : 51 Question Id : 55213113343 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Who is the Father of Idealism?
Options :

55213152401, ~istotle

55213152402, Flato

William James
55213152403.

Kierkegaard
55213152404. =

Question Number : 52 Question Id : 55213113344 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Systems of Gymmnastics in Sweden was introduced by
Options :

55213152405, <:rehibald Maclaren

Niels Bukh
55213152406.

Per Henrik Ling
55213152407. =

Guts Muths
55213152408.

Question Number : 53 Question Id : 55213113345 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Recreation Movement in India was started by:
Options:

55213152409, D¢ Mellow

55213152410, G- D. Sondhi

55213152411, I . Buck

Vaidya P. R.
55213152412.

Question Number : 54 Question Id : 55213113346 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which change is considered due to socialization?
Options :

55213152413, Maturational Changes

Attitudinal Changes

55213152414.

55213152415, Physical Changes
Emotional Changes

55213152416.

Question Number : 55 Question Id : 55213113347 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following/s 1s /are correct?
I. Guts Muths is known as father of German Gymnastics.
II. Franz Nachtegall laid down the foundation of Physical education in Denmark.
[1I. E.T.Gustav is known as the Father of Playground Movement in Germany.

Codes:

Options :

Only I is correct
55213152417.



[ and II are correct
55213152418.

II and III are correct
55213152419.

55213152420, I. II and III are correct

Question Number : 56 Question Id : 55213113348 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following/s is /are correct?
[ The process of socialization is a continuous process
II. Individual differences are found in perceptual situations
[II. Child socialization is influenced by biological norms

Codes:

Options:

Onlv II 15 correct
55213152421. :

55213152422, | and Il are correct

IT and III are correct
55213152423.

55213152424, 1 1L and Il are correct

Question Number : 57 Question Id : 55213113349 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Sociological foundation of physical education discusses
[. Body type
II. Motor learning
III. Competition and Co-operation
IV. Socialization process

Find the correct combination.

Options :

[ and [V are correct
55213152425.

IT and IV are correct
55213152426.

[ and III are correct
55213152427.

R o .
55213152428, LI and IV are correct

Question Number : 58 Question Id : 55213113350 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Which of the following statement 1s/are correct about Grand Slam tournaments schedule?
[ Australian Open is organized in mid January
[[. French Open 1s organized late May through early June
[I. Wimbledon is organized in June-July

IV. US Open 1s organized in Mid October

Codes:

Options :
55213152420, Only I 1s correct

I, IT and III are correct
55213152430.

I, II and 1V are correct
55213152431.

I1. III and IV are correct
55213152432.

Question Number : 59 Question Id : 55213113351 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Assertion (A): People rebel against the norms of their group.
Reason (R): People desire to be liked and to be right.
Codes:
Options :

Both (A) and (R) are true. and (R) 1s the correct explanation of (A).
55213152433.

55213152434, Both (A) and (R) are true. but (R) is not the correct explanation of (A).



55213152435, (A) 1s true. but (R) is false.

55213152436, M) 18 false. but (R) is true.

Question Number : 60 Question Id : 55213113352 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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WHO definition of Health as “A state of complete physical. and

the absence of disease or mfirmity”
Options :
55213152437, Mental and emotional well-being

Emotional and social well-being
55213152438. =

Emotional and intellectual well-being
55213152439. s

Mental and social well-being
55213152440.

and not merely
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Match the List — I with List - IT using the codes given below:

List-1 List—1II
(Stages) (Cogmitive development)
1. Operational a. Mature adult thought emerges. thinking by deductive

Concrete logic. abstract thought

2. Preoperational b. Develops conservation concepts. classify object in
series

3. Sensormmotor C. Represent the world mentally. thought egocentric.
child shows animism

4. Formal d. Lacks of language, does not use symbol. internal
behavior operational begins

Codes:
Options :

P /
55213152441, 1~ 2-b. 3-c, 4-d

b Pa ] oA
55213152442, L0 274 3-d. 4=

1-b, 2-¢c. 3-d. 4-a
55213152443.

1-a. 2-c. 3-d. 4-b
55213152444,

Question Number : 62 Question Id : 55213113354 Question Type : MCQ Option Shuffling : Yes
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Match List — I with List — I and indicate your answer using the codes given below :
List-1 List—1I
1. Cerebellum a. Sleep

-2

. Reticular Formation b. Emotions

3. Medulla ¢. . Reflexive activities
4. Limbic System d. Motor control
Codes:
Options :
1-a. 2-d. 3-b. 4-¢
55213152445.
1-c. 2-b, 3-a. 4-d
55213152446.
1-a. 2-b, 3-c. 4-d
55213152447.
1-d. 2-a. 3-c. 4-b
55213152448.

Question Number : 63 Question Id : 55213113355 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Each individual 1s different from every other because of which one of the following reason?

Options :

Chromosomes from the two parents randomly pair up in each child.
55213152449. ]

The female germ cells and the male germ cell contain varying numbers of chromosomes.
55213152450. : £ I

55213152451, Lhe male body cells and female body cells have different numbers of chromosomes.



55913152452, The fertilisation of the egg takes place at different times and days in different individuals.

Question Number : 64 Question Id : 55213113356 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Give the correct sequence for controlling irrational thoughts given below
I. Evaluate the accuracy
II. Reward yourself for effective change
III. Prepare incompatible thoughts
[V. Develop awareness
Codes:
Options:

[V-II-I-III
55213152453.

55213152454, [-IV-I-I

IV-I-TII-I
55213152455.

55213152456, LIV

Question Number : 65 Question Id : 55213113357 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Assertion (A): Projective testing would be of the greatest mterest to psychodynamic personality
psychologist,
Reason (R): Projective testing is designed to uncover unconscious thoughts. feelings, and conflicts.
Codes:
Options :

Both (A) and (R) are true. and (R) 1s the correct explanation of (A).
55213152457. ' i

55913152458 Both (A) and (R) are true. but (R) is not the correct explanation of (A).

(A) 1s true. but (R) 1s false.
55213152459.

(A) 1s false. but (R) is true.
55213152460. }

Question Number : 66 Question Id : 55213113358 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Assertio(A) : Heredity influences the process of growth and development.

Reason (R): The living conditions — physical. social and cultural do not affect growth and development,

Codes:
Options :
55213152461, Both (A) and (R) are true. and (R) is the correct explanation of (A).
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
55213152462. '

55213152463, (A) 1s true. but (R) 1s false.



55213152464 (A) 1s false, but (R) is true.

Question Number : 67 Question Id : 55213113359 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Assertion (A): Leaders exert powerful effects on the followers through the attributions followers make
about them.
Reason (R): Leaders have self confidence and environmental sensitivity,
Codes:
Options :

55913152465 Both (A) and (R) are true. and (R) 1s the correct explanation of (A).

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
55213152466.

(A) 1s true, but (R) 1s false.
55213152467.

(A) 1s false. but (R) is true.
55213152468.
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Leaders who adjust their style, from one that 1s task-oriented and directive to one that 1s more

relations-oriented and less directive, are following the principles of

Options :



55213152469, Democratic Leadership Theory

55213152470, Situational Leadership Theory

Consultative Leadership Theory
55213152471.

Equity Leadership Theory
55213152472.
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A positive or negative environmental stimulus that motivates behaviour

Options :

55213152473, Reinforcement

55213152474, Punishment

55213152475, Lncentive

Learning
55213152476. ot

Question Number : 70 Question Id : 55213113362 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 2 Wrong Marks : 0

The seat of emotion 1s to be found in the

Options :

Reticular formation
55213152477.

55213152478. Hind brain

55213152479, Limbic system

Fore brain
55213152480.
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The research findings indicate that job satistaction and performance usually have

Options :

Weak negative correlation
55213152481.

55213152482, 1\© correlation

55213152483, " Sak positive correlation

Strong positive correlation
55213152484.
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The epidemiology of Hepatitis A virus is accurately described by which of the following statement ?

Options :

55213152485, Food and water borne epidemics are common.

55213152486. Health care workers are more at risk.

Epidemic in susceptible young adults is common.
55213152487.

Epidemic rarely occurs in temperate climates.
55213152488.

Question Number : 73 Question Id : 55213113365 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Arrange the following steps of purchase decision in sequence from first to last?
[. Problem recognition
II. Search for alternatives
[1I. Evaluation of alternatives
IV. Purchase action
V. Post purchase action

Codes:

Options:



LIOLILIV.V
55213152489.

LIL IV, IV

55213152490,

ILLIL V. IV
55213152491,
55213152492, L 1L LIV, V
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Assertion (A): Management is a CONtinuous process.

Reason (R): Managers first plan. then organise and finally perform the function of controlling,

Codes:
Options :
Both (A) and (R) are true, and (R) 1s the correct explanation of (A).
55213152493.
Both (A) and (R) are true. but (R) is not the correct explanation of (A).
55213152494,
(A) 1s true. but (R) 1s false.
55213152495.
(A) 1s false, but (R) is true.
55213152496.

Question Number : 75 Question Id : 55213113367 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Assertion(A): Median is used as a measure of scale value in method of equal appearing mtervals.
Reason (R): In normal distribution mean. median and mode are identical.
Codes:
Options :

Both (A) and (R) are true, and (R) is the correct explanation of (A).
55213152497.

Both (A) and (R) are true. but (R) is not the correct explanation of (A).
55213152498.

(A) 1s true, (R) 1s false.
55213152499.

(A) 1s false. (R) 1s true.
55213152500.
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Assertion (A): Research suggests that delay conditioning 1s generally the most effective method for
establishing a conditioned response.

Reason (R): Conditioned stimulus helps predict forthcoming presentation of the

unconditioned stimulus.
Codes:

Options :

Both (A) and (R) are true, and (R) is the correct explanation of (A).
55213152501. : .

Both (A) and (R) are true. but (R) is not the correct explanation of (A).
55213152502. i '



(A) 1s true but (R) 1s false.
55213152503.

Both (A) and (R) are false.
55213152504.
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How many subjects would be required in a 3 x3 »2 factorial design with ten subjects per cell?

Options:

55213152505. 1

55213152506. b

90
55213152507.

180
55213152508.
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Match List — I with List — IT and indicate your answer using the codes given below:

Tast—1 Last —T1
(Hormones) (Synthesized from )
1. Steroidal hormones a. An amino acid
2. Peptide hormones b. Long chain of amino acids
3. Protein hormones ¢. Fat molecule
4. Amino acid derivates d. Short chain of amino acids
Codes:
Options :
- J-"- - d -
55213152509, 1~d: 2-¢. 3-a. 4-D
- J-"- - d -
55213152510, 10 2@ 3-D. 4-¢
d 2 3-h A-
55213152511. J d: e b: 4-a
- F‘- - i -
55213152512, L1~¢> 20, 3-a. 4-d
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Match List — I with List — IT and indicate your answer with the help of given codes:

List—1I List—1II
(Cognitive Process/System) (Process/Locale)
1. Feature based processing a. Right cerebral hemisphere
2. Whole based processing b. Top down processing
3. Abstract category system C. Bottom-up processing

4. Specific exemplar subsystem  d. Left cerebral hemisphere
Codes:
Options :

Ly
55213152513, 1-& 27C: 3-d. 4-b

1-c. 2-b. 3-d. 4-a
55213152514.

1-b, 2-d. 3-a. 4-c
55213152515.

1-d, 2-a, 3-c. 4-b
55213152516.
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In the two-way ANOVA, with A and B as the independent variables. if the F ratio computed as
MSA~B/MSW s significant. it can be concluded that
[. Main effect of A 1s significant.
[I. Main effect of B is significant,

[11. Interaction effect 1s significant.
Codes:

Options :



55213152517, LI only

[ and II are correct
55213152518.

II and III are correct
55213152519.

55213152520.IfllaﬂdlllafeCEﬂTect
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Arrange the following different types of ‘Play” in an increasing order of cognitive complexity:
[ Constructive
[l Dramatic
[I. Functional
V. Games
Codes:
Options:

111, IIl and IV
55213152521,

II, 1L, T and IV
55213152522,

55213152523, 1+ L T and IV

55213152524, L I T and IV
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Assertion (A): Fear or stress prior fo surgery has been associated with slower post surgical recovery,

mncluding delays i wound healing.
Reason (R): Psychological factors can influence physical illness.

Codes:

Options :

Both (A) and (R) are true. and (R) 1s the correct explanation of (A).
55213152525.

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
55213152526.

(A) 1s true but (R) 1s false.
55213152527.

Both (A) and (R) are false.
55213152528.
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The way m which a chuld’s efforts to master a new or challenging task 1s supported in a flexible and
contingent way by teachers, parents or more competent persons is called

Options :

55213152529 Scaffolding



Social influence
55213152530.

Social mediation
55213152531.

Social referencing
55213152532.
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Arrange the following co-relations in descending order in terms of the percentage of common
variance shared by the two variables:
L 060
L _p50
. g7
IV. 040
Codes:
Options :

III, I. IT and IV
55213152533.

I IV, III and II
55213152534.

LIV,
55213152535, 1 IV [T and I

ML IV
55213152536, =+ - IV and II
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Attribution. the process by which we determine the causes behind other’s behaviour, involves

focusing on which aspects of behaviour?

Options :

55213152537, Consensus. distinctiveness and attraction

Distinctiveness. consistency and influence
55213152538.

Consensus. consistency and distinctiveness
55213152539.

Distinctiveness. influence and attraction
55213152540.
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Deliberate application of known strategies to tasks, planning their use in advance, momnitoring them i
action, evaluating their output and modifying subsequent behaviour on the basis of performance s called.
Options:

Self regulated learning
55213152541.

Implicit learning
55213152542. '8



Deductive reasoning
55213152543.

55213152544, Cognitive learning
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Threshold hypothesis indicates:
Options :

Positive correlation between intelligence and creativity upto a particular level of itelligence.
55213152545, BOlCE AL y upto a partic gene

Negative correlation between intelligence and creativity upto a particular level of intelligence.
55213152546.

Curvilinear relationship between intelligence and creativity after a particular level of ntelligence.
55213152547.

Negative correlation between intelligence and creativity after a particular level of Intelligence,
55213152548.
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Applied behaviour analysis involves four steps. Which of the following two pairs are included?

[. Define and observe
II. Enumerate and reward
[lI. Observe and remnforce

[V, Intervene and test

Codes:

Options:

[ and II are correct
55213152549,

[ and IV are correct
55213152550.

II and IV are correct
55213152551.

III and IV are correct
55213152552.
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Assertion (A): Paper-pencil self report personality inventories are very useful m personnel selection.

Reason (R): In selection situation. paper-pencil. self-report mventories are sensitive to impression

managemment.
Codes:
Options :
Both (A) and (R) are true. and (R) 1s the correct explanation of (A).
55213152553.

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
55213152554.



(A) 1s true but (R) 1s false.
55213152555.

Both (A) and (R) are false.
55213152556.

Question Number : 90 Question Id : 55213113382 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Assertion (A): Working memory mvolves both storage capacity and the capacity to process information
held in the memory system.

Reason (R): The serial position effect provides evidence for the existence of two distinct memory
systems, working memory and long term memory.

Codes:

Options :

Both (A) and (R) are true. and (R) 1s the correct explanation of (A).
55213152557.

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
55213152558. :

(A) 1s true but (R) 1s false.
55213152559.

Both (A) and (R) are false.
55213152560.
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Correct Marks : 2 Wrong Marks : 0
According to Freud. different types of anxiety are:
I. Neurotic anxiety
II. State anxiety
IT1I. Moral anxiety

IV. Reality anxiety

Codes:

Options :
55213152561 [, II and III are correct

I. Il and IV are correct
55213152562.

. Il and IV are correct
55213152563.

: T ,

55213152564, - LI and IV are correct
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following are correct?
I Percent Body Fat (%BF) - The percentage of the bodyweight that is adipose tissue
[I. FatFree Weight (FFW) - The total weight of everything that is not fat
[1I, Lean Body Mass (LBW) — More so refers to the weight of muscle
[V. Overweight - Deviation in body weight from some standard or “ideal” weight in relation to height.
Codes:

Options :



55213152565, | and I are correct

! YV oar :
55213152566. [. T and IV are correct

IT and III are correct
55213152567.

55913150568, L - Il and IV are correct

Question Number : 93 Question Id : 55213113385 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following/s 1s/are correct?
[. The volume of fat-free tissue is proportional to the electrical conductivity of the body.
II. Fat is a good electrical conductor.
[II. Lean tissue is a poor electrical conductor.
Codes:
Options:
Only 1 1s Correct

55213152569.

55213152570, | and Il are correct

IT and III are correct
55213152571.

55213152572 I, II and III are correct



Question Number : 94 Question Id : 55213113386 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Pulses are deficient in -

Options:

55213152573. Methionine

55213152574, Lysine

55213152575. Leucine

Tryptophan
55213152576. YPIop

Question Number : 95 Question Id : 55213113387 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘Ergonomics’ is -

Options:
Human engineering
55213152577. & "
55213152578, Cenetic manipulation
Occupational alteration
55213152579.

55213152580.



Social engineering

Question Number : 96 Question Id : 55213113388 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
The first evidence of infection in Hepetitis B 1s -

Options :

Anti HBs
55213152581.

HBe Ag
55213152582. I

HBs Ag
55213152583. =

Anti1 HBe
55213152584,

Question Number : 97 Question Id : 55213113389 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The human nails are composed largely of -

Options :

Melanin
55213152585.



Keratin

55213152586.

Carbon
55213152587.

Amino Acids
55213152588.

Question Number : 98 Question Id : 55213113390 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The most important challenge for a teacher 1s

Options:

To maintain discipline in the classroom.
552131525809.

To make students do theiwr homework.
55213152590.

To prepare the question-bank.
55213152591.

To make teaching process enjoyable
55213152592.

Question Number : 99 Question Id : 55213113391 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Which of the following skills are needed for present day teacher to adjust properly with the classroom
teaching?

. Knowledge of technology

II. Use of technology in teaching learning
[lT. Knowledge of student’s needs
[V. Content mastery

Codes:

Options :

I and III are correct
55213152593.

IT and III are correct
55213152594,

II, IIT and IV are correct
55213152595.

55213152596, | and IV are correct

Question Number : 100 Question Id : 55213113392 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
*Socialization” 1s a process by which the individual is adapted to his

Options :

Classroom environment
55213152597.

Social environment
55213152598.



Political environment
55213152599,

Cultural environment
55213152600.

Question Number : 101 Question Id : 55213113393 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Curriculum means
Options :

All the experiences which students get in school.
55213152601.

Subject that are transferred by the faculty.
55213152602.

Syllabus prescribed for the course.
55213152603.

55213152604 Class experiences. sports and games.

Question Number : 102 Question Id : 55213113394 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

If a researcher conduct a research on finding out which administrative style contributes more to
mstitutional effectiveness, this will be an example of

Options :



Ex-post facto research
55213152605.

55213152606. Action research

55213152607 Applied research

Fundamental research
55213152608.

Question Number : 103 Question Id : 55213113395 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Arrange the following steps of process of educational research in a sequence from first to last:
[. Collection of data
Il Statement of objectives
1. Selecting the problem
[V. Method/Procedure
V. Analysis and Interpretation of data
V1. Reporting the results
Codes:
Options :
cc213152609, 1L 1L IV. I, V and VI

55213152610, 1= HL 1L Ve VLIV

r1. VLV
55213152617, k1L IV. I, VI

55213152612.



I, I, V, I, VL, IV

Question Number : 104 Question Id : 55213113396 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Items of List — I and List - IT given below have one-to-one relationship on some basis. Identify the

mherent relationship and select the correct matching from the given options:

List-1 List-1I
1. Experimental a. Sampling
2. Historical b. Meta-analysis
3. Philosophical ¢. Internal criticism
4. Descriptive d. Content analysis

¢. Internal validity
Codes:

Options:

1-¢, 2-e, 3-b. 4-d
55213152613.

g R
55213152614, 178 20 3-D. 4-¢

R
55213152615, 17C: 2-d: 3-b. 4-a

l-e. 2-c. 3-d. 4-a
55213152616.

Question Number : 105 Question Id : 55213113397 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Two variables X and Y are significantly correlated. This means that
Options :

X causes variationn Y.
55213152617.

55213152618, Y causes variation in X.

X and Y vary together.
55213152619.

No such conclusion may be drawn.
55213152620.

Question Number : 106 Question Id : 55213113398 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Arrange the following from institute/college of physical education in order of their establishment
from first to [ast:

[ Christian College of Physical Education. Lucknow
Il Government College of Physical Education, Rampur
[II. Y M.C.A. Madras

[V. Institute of Physical Education. Kandivli
Codes:

Options :

I, I, 1V. 1
55213152621.

LIV, 1L 11
55213152622.



55213152623, = L1V 1

L, LIV, 11
55213152624.

Question Number : 107 Question Id

: 55213113399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following are essential amino acids?

[. Tryptophan
II. Valine

III. Lysine
[V. Leucine

V. Serine
VI. Alanine
Codes:

Options :

I IL III, IV
55213152625.

55213152626, 1 L1V V

55213152627, v+ 1Vv-1L1

11, IV, V. VI
55213152628.

Question Number : 108 Question Id

: 55213113400 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following foods are rich source of omega-3 fatty acid?
I. Walnuts
II. Fish
III. Butter
IV. Egg
Codes:
Options :

[ and II are correct
55213152629.

55213152630, L and IV are correct

III and IV are correct
55213152631.

55213152632, [ and III are correct

Question Number : 109 Question Id : 55213113401 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The laws of mechanies that apply to body movement and segment are:

I. Gravitational force.

II. Arm position.

III. Momentum

IV. Work height

V. Leverage

Codes:

Options :

[, IIl and V are correct
55213152633.

55213152634, - [V and v

I. Il and IV are correct
55213152635.

IL, IIT and V
55213152636.

Question Number : 110 Question Id : 55213113402 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Three distinct areas involved in nonverbal communication are:
[. Aesthetics
II. Kinesics
[II. Proxemics
IV. Para-language

Codes:

Options :



I, II and III are correct
55213152637.

II. IIT and IV are correct
55213152638.

I, IIT and IV are correct
55213152639.

I.II and IV are correct
55213152640.

Question Number : 111 Question Id : 55213113403 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Assertion (A): Ergonomucs is a study concerned with relationships among man, machine and the
work environment,
Reason (R): The efficiency of the work is a result of a triangulated nter-relationships and nter-

dependence between the worker and the equipment used i a given work place.
Codes:

Options:

Both (A) and (R) are true. and (R) is the correct explanation of (A).
55213152641.

Both (A) and (R) are true . but (R) is not the correct explanation of (A).
55213152642.

(A) 1s true but (R) 1s false.
55213152643.

Both (A) and (R) are false.
55213152644.



Question Number : 112 Question Id : 55213113404 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): During contmued muscular activity. the glycogen breaks down in the presence of
oxygen (within the body muscles) and releases energy along with the metabolites
—lactic acid. CO2. heat and moisture.

Reason (R): During continued muscular activity the O2 restricts the release of energy after some

time as body muscles are involved in managing the metabolites.
Codes:

Options :

Both (A) and (R) are true. and (R) 1s the correct explanation of (A).
55213152645.

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
55213152646.

(A) 1s true but (R) 1s false.
55213152647.

Both (A) and (R) are false.
55213152648.

Question Number : 113 Question Id : 55213113405 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Arrange the following symptoms of Vitamin A deficiency in sequence from first to last:
I. Blindness
II. Xerosis of conjuctiva
11, Xerosis of cornea
[V. Night Blindness
V. Bitot spot
Codes:
Options :

55213152649, 1 - HLIV.V

IV, V, I, 1,1
55213152650.

ILIOL I, V, IV
55213152651.

IV, 0,00, V, I
55213152652.

Question Number : 114 Question Id : 55213113406 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Arrange the following stages of development from first to last:
[. Implantation
II. Blastocyst formation
[11. Fertilization
[V. Period of the fetus
V. Period of the embryo

Codes:



Options :

55213152653, 1+ e 1L IV V

55213152654, L L 1L V. IV

L IL I, IV, V
55213152655.

55213152656, L= 1L L V. IV

Question Number : 115 Question Id : 55213113407 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Arrange 1 correct sequence the steps to be adopted for preparing a time and activity schedule :
[. Enlisting all the tasks performed in a day.
[ Estimate time spent for each task.
1. Classify tasks as flexible and nflexible.
[V. Determine the sequential order.
V. Analyse the schedule,
V1. Include meta plans for any extra time.

VIL. Prepare the final time and activity plan.

Codes:
Options:
LI IV, VLV, VI
55213152657.
55213152658. IIIL I, V, IV, VI, VII

55213152659.



I V,IV I II, VI, VII

55213152660, 1= LI: V. IL VL IV, VI

Question Number : 116 Question Id : 55213113408 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Arrange the following steps required in executing a process chart technique for task analysis

[ Select the task.

[ Break the operation of the task into sub operations.

[11. Prepare the sheet for process analysis.

[V. Analyse the observations made.

V. Observe the task in execution.
VI Discuss the suggestions with the worker for repeated tasks.
VII. Give suggestions for improvement,

Codes:

Options:

55213152661, b= 1 1L IV, V. VL. VI

LIL OO, V, IV, VI, VII
55213152662.

55213152663, 1+ 11 IL IV, VL.V, VII

c£213152664. Aluls LIV NN 300)



Question Number : 117 Question Id : 55213113409 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Tuberculosis is caused by:
Options:

55213152665, © LUSES

Bacteria
55213152666.

Protozoa
55213152667.

Fung
55213152668. i

Question Number : 118 Question Id : 55213113410 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The final regression (prediction) equation of Schmithals -French Field Hockey Skill Test 1s:

Options :

Xo0=038X1+0.17X2-048 X3+ 1.62
55213152669.

Xo=0.38 X100 .17 X2 =048 X3 + 1.62
55213152670.

Xo=0.38 X1+0 .17 X2 +0.48 X3 —-1.62
55213152671.



Xo0=038X1-0.17X2+048 X3 +1.62
55213152672.

Question Number : 119 Question Id : 55213113411 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following/'s 1s/are correct for measuring the height of a person’
. Head must be Frankfort Plane

[I. Head must be Frontal Plane
[11. Orbitale and Tragion must be m horizontal line.

IV. Orbitale and Zygomatic notch must be in horizontal line

Codes:

Options :

[ and III are correct
55213152673.

[ and IV are correct
55213152674.

II and III are correct
55213152675.

II and IV are correct
55213152676.

Question Number : 120 Question Id : 55213113412 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Which of the following/s is/are correct for Harvard Step Test?
I. It was developed in the Harvard Fatigue Laboratories during World War II
II. It was first published in Research Quarterly. 14. March,1944, 131-136.
[II. Height of bench for college men - 20™

IV. Height of bench for high school girls - 14™

Codes:
Options :

I, I and III are correct
55213152677.
55213152678. IL. T and IV are correct

[ and III are correct
55213152679.

® 1 YV oar i
55213152680. [ I IIT and IV are correct

Question Number : 121 Question Id : 55213113413 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the List — I and List — IT given below:

List — I List —1II
Skill test Validity coefficient
1. Broer- Miller Tennis test a. 0.85
2. French Short Serve Test b. 0.66
3. French clear Test C. 0.60
4. AAHPERD (High school Student) d. 0.81
Codes:

Options :



B /
55213152681, 1-C: 2-&. 3-b. 4-d

55213152682.

B e A
55213152683, L0 270 3-¢. 4-2

B el
55213152684, 17C: 2~d- 3-D. 4-a

1-a, 2-b, 3-c. 4-d

Question Number : 122 Question Id : 55213113414 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the List - T and List — IT given below for skinfold measurement site for calculating bod

percentage:
List—1 List— I
Area Technical Name for skinfold site

1. Just above Ilium Bone
2. Below pectoralis major Muscle
3. Above biceps femoris Muscle

4. On Trapezius Muscle
Codes:

Options :

L e A
55213152685, L0 27C- 3@ 4-d

1-a. 2-b. 3-c. 4-d
55213152686.

& e Y R
55213152687, 170> ==& 3-d, 4-¢

a. Midaxillary
b. Suprailiac
¢. Subscapular

d. Thigh



55213152688, 1-C: 2-d. 3-b. 4-a

Question Number : 123 Question Id : 55213113415 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following/s is/are correct?
[. Displacement can be anything - positive. negative or zero.
[I. SIunitof weight is Newton.
III. Weight of an object is scalar quantity.
Codes:
Options :

[ and II are correct
55213152689.

IT and III are correct
55213152690.

Only II 1s correct
55213152691.

[ and III are corract
55213152692.

Question Number : 124 Question Id : 55213113416 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Which of the following/s is/are correct?
I. The classic rules of sliding friction were discovered by Leonardo da Vinci

II. The classic rules of sliding friction were discovered by Galileo

[1I. Force of friction is directly proportional to the coefficient of friction.
Codes:

Options :

Only [ 1s correct
55213152693.

[ and III are correct
55213152694,

II and III are correct
55213152695.

Onlv ] 1s correct
55213152696. ad

Question Number : 125 Question Id : 55213113417 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following are correct in vacuum?
[. The horizontal velocity of a projectile is always constant during flight

II. The vertical velocity of a projectile i1s always constant during flight
[1I. The vertical velocity of a projectile keeps on changing during flight

IV. At the highest point of projectile the vertical velocity is zero.
Codes:

Options :

I IIT and IV are correct
55213152697.

I, II and III are correct
55213152698.



IT, IIT and IV are correct
55213152699.

[ II and IV are correct
55213152700.

Question Number : 126 Question Id : 55213113418 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Assertion (A): Time of flight of a projectile is maximum when angle of release is 90°
Reason (R): The time of flight is directly proportional to sin 6.
Codes:
Options :

Both (A) and (R) are true. and (R) 1s the correct explanation of (A).
55213152701.

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
55213152702. i

(A) 1s true but (R) 1s false.
55213152703.

Both (A) and (R) are false.
55213152704.

Question Number : 127 Question Id : 55213113419 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Assertion (A): The range of a projectile will be mcreased as we move above the sea level.
Reason (R): The range of projectile is directly proportional to force of gravity.
Codes:
Options :

Both (A) and (R) are true. and (R) is the correct explanation of (A).
55213152705.

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
55213152706.

(A) 1s true but (R) is false.
55213152707.

Both (A) and (R) are false.
55213152708.

Question Number : 128 Question Id : 55213113420 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Assertion (A): Female have better floating ability then males.

Reason (R): The specific gravity of fat — 1.2 and muscles — 0.8.

Codes:

Options :

55213152709, Both (A) and (R) are true . and (R) is the correct explanation of (A).

Both (A) and (R) are true . but (R) is not the correct explanation of (A).
55213152710. :

(A) 1s true but (R) 1s false.
55213152711.



Both (A) and (R) are false.
55213152712. i '

Question Number : 129 Question Id : 55213113421 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following/s is/are correct?

. Total gait cycle of running is divided into three phases: Support. drive and Swing.

I[I. There 1s no phase of double support in Running gait cycle.

[11. In running one complete gait cycle the Support — 30% . drive — 40% and Swing — 40%.
Codes:
Options :

Onlv I 15 corr

55213152713, 0 s GUEFELK

IT and III are correct
55213152714.

55213152715, I and III are correct

[and II are correct
55213152716.

Question Number : 130 Question Id : 55213113422 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Assertion (A): In long jump the penultimate stride 1s always longer.

Reason (R): The penultimate stride helps to change the acceleration path to a more vertical direction

and create stronger vertical force impulses.
Codes:

Options :

55213152717, Both (A) and (R) are true. and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
55213152718. '

55913152719, (A4 18 true but (R) 1s false.

c5513152720, DO (A) and (R) are false.

Question Number : 131 Question Id : 55213113423 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following/s 1s /are correct?

[. The take off speed of a male elite long jumper 1s about more than 10.5 m/s.

II. The take off speed of a male elite high jumper is about 3.5 m/s.

[1I. For the elite long jumper the optimum take off angle is between 18 and 25 degrees.

Codes:

Options:

55213152721. Only [ 1s correct
Only III is correct

55213152722.

55213152723, | and Il are correct



55213152724, I, Il and III are correct

Question Number : 132 Question Id : 55213113424 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Items of List — I and List — II given below and select the correct matching from the given options:

List-1I List—1I
Muscle Origin
1. Triceps Brachii (Long Head) a. Upper posterior surface of the humerus
2. Triceps Brachii (Lateral head) b. Infraglenoid Tubercle
3. Triceps Brachi (Medial head) ¢. Supraglenoid Tubercle
4. Biceps brachii (Long Head) d. Inferior 2/3 of posterior humerus
Codes:
Options :
1-c. 2-d. 3-b. 4-a
55213152725.
1-c. 2-d. 3-a. 4-b
55213152726.
= 7 R -
55213152727, 1> 278 3-d. 4-c
1-b. 2-c. 3-d. 4-a
55213152728.

Question Number : 133 Question Id : 55213113425 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Ttems of List — I and List - IT given below and select the correct matching from the given options:

List -1 List-1I
Muscle Insertion
1. Triceps Brachii a. Intertubercular groove of anterior humerus
2. Biceps brachit b. Below bicipital groove of humerus
3. latissimus dorsi ¢. Olecranon process
4. Pectoralis major d. Radius Tuberosity
Codes:
Options :
1-c. 2-d. 3-b. 4-a
55213152729.
c. 2-b. 3-a. 4-
55213152730, 1 2-b, 3-a,4-d
b. 2-a. 3-d. 4-¢
55213152731, 170- 272 3-d. 4-c
1-d. 2-c. 3-b. 4-a
55213152732.

Question Number : 134 Question Id : 55213113426 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Items of List — I and List — II given below and select the correct matching from the given options:
List-1I List—1I

Hip Joint Ligament

1. Inside the joint capsule a. Oblique popliteal

2. Posterior b. Patellar ligaments

3. Medial ¢. Anterior cruciate ligament

4. Anterior d. Collateral ligament

Codes:
Options :

& 2:d 3on.A4-

55213152733, 1°¢: 2-d. 3-a,4-b

1-d. 2-b. 3-a. 4-c

55213152734
a :-‘3-‘--
55213152735, L 27 3-d. 4-b
- 2-‘3-‘--
55213152736, 1 0- 272 3-¢. 4-b

Question Number : 135 Question Id : 55213113427 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Items of List — T and List - IT given below and select the correct matching from the given options:
List-1 List—1I

Hip Joint Ligament

1. Inside the joint capsule a. Iliofemoral

2. Postertor b. Pubofemoral

3. Medial ¢. Ischiofemoral

4. Anterior d. ligamentum teres
Codes:

Options :



1-¢c. 2-d. 3-a. 4-b
55213152737.

1-d. 2-¢c. 3-b. 4-a
55213152738.

1-c. 2-a. 3-d. 4-b
55213152739.

1-d. 2-a. 3-c. 4-b
55213152740.

Question Number : 136 Question Id : 55213113428 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Ponderal Index (PI) is calculated as a relationship between

Options:

Mass and height
55213152741.

Lean body fat and height
55213152742.

Fat percentage and Lean body mass
55213152743.

Fat percentage and height
55213152744.

Question Number : 137 Question Id : 55213113429 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following/s is /are correct?
[. Ponderal Index (PI) is also known as Rohrer's Index

II. Ponderal Index (PI) is also known as Corpulence Index (CI)

III. Ponderal Index (PI) was first proposed in 1925.
Codes:
Options :
Only 1 1s correct.

55213152745.

Only o et
55213152746. y Il are correct

[and II are correct
55213152747.

I, IT and III are correct
55213152748.

Question Number : 138 Question Id : 55213113430 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A behaviour where opponent is psychologically and or physically harmed but the goal is to win s called

Options :

Hostile aggression
55213152749.

Assertive behaviour
55213152750.

55213152751.



Instrumental aggression

Violent behaviour
55213152752,

Question Number : 139 Question Id : 55213113431 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Common injury to the Basketball players 1s

Options :

55213152753, 1icad imury

Interior lateral ligament injury of ankle
55213152754.

Shoulder injury
55213152755. :

Lateral collateral ligament injury of hip
55213152756.

Question Number : 140 Question Id : 55213113432 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Weight training method was started by German gymnastic coach in the year-
Options :

55213152757.



1810

12
55213152758.
"
55213152759. Lo
816
55213152760.

Question Number : 141 Question Id : 55213113433 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match List — I with List — IT and select the correct option using the code given below

List -1 List—1I
1. Ludwig John a. Educational gymnastics
2. John Dewey b. Modern Olympic Games
3.P.H. Ling ¢. Turnverein Movement
4. Coubertin d. Pragmatism
Codes:
Options :
l-a. 2-c. 3-d. 4-b
55213152761.
55213152762, | 0 27 3¢, 4-d
1-d. 2-b. 3-a. 4-c
55213152763.

1-¢c. 2-d. 3-a. 4-b
55213152764,



Question Number : 142 Question Id : 55213113434 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match List — I with List — IT and select the correct option using the codes given below:

List—1 List —1II
1. Oxygen storage in the muscle a. Oxygen debt
2. Source of energy during all out sprint b. Anaerobic metabolism
3. Rest period immediately after exercise ¢. Myoglobin

4. Excess oxygen consumed during recovery period  d. Recovery period

Codes

Options:

1-a. 2-b. 3-c. 4-d
55213152765.

1-b. 2-d. 3-c. 4-a
55213152766.

1-a. 2-d. 3-b. 4-¢
55213152767.

1-c. 2-b. 3-d. 4-a
55213152768.

Question Number : 143 Question Id : 55213113435 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match List — I with List — IT and select the correct option using the codes given below:

List—1 List—1II
1. Frictional force a. Body weight
2. Buoyant force b. Banking
3. Gravity force ¢. Stability
4. Centrifugal force d. Floating
Codes:
Options :
1-b. 2-c. 3-d. 4-a
552131527609.
l1-c. 2-d. 3-a. 4-b
55213152770.
1-d. 2-a. 3-b. 4-¢
55213152771.
1-a. 2-b. 3-c. 4-d
55213152772.

Question Number : 144 Question Id : 55213113436 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match List — I with List — IT and select the correct option using the codes given below:

List—1 List—1II
1. Circuit Training a. Winter Bottom
2. Fartlek Training b. Dr. Reindelland Greschler
3. Interval Traming ¢. Gosta Halmar
4. Pressure Training d. Morgan and Adamdson
Codes:

Options :



55213152773.

1-d. 2-c. 3-b. 4-a
55213152774.

1-b. 2-a. 3-d. 4-¢
55213152775.

1-a. 2-b. 3-c. 4-d
55213152776.

Question Number : 145 Question Id : 55213113437 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Arrange the following phases of motor learning in order of sequence:

I. Phase of fine coordination
II. Phase of rough coordination

[II. Phase of automatization
Codes:

Options:

55213152777, I, Il and III are correct

55213152778, II. IIT and I are correct

II. T and Il are correct
55213152779.

55213152780. III. IT and I are correct

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks



for this question if any of the correct options are chosen.

Question Number : 146 Question Id : 55213113438 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Recreation 1s a fundamental human need.
Reason (R): Urge for recreation is universal.

Codes:

Options :

6913152781 Both (A) and (R) are right. but (R) 1s not the correct explanation of (A).
Both (A) and (R) are right. and (R) is the correct explanation of (A).

55213152782. =

55213152783, (A) 1s wrong. but (R) is right.
(A) 1s right. but (R) 1s wrong.

55213152784.

Sub-Section Number : 2

Sub-Section Id : 5521311179

Question Shuffling Allowed : No

Question Id : 55213113439 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (147 to 150)

Question Label : Comprehension



Read the following passage and answer the four questions that follow : (Q_97-1

A sports psychologist developed a new Anxiety Inventory of 25 ttems. The Cronbach alpha for the
mventory was found to be 0.80. The inventory was administered to a group of 50 sports persons suffering
from anxiety disorder before beginning their psychotherapy. The sports persons suffering from anxiety
disorder had a significantly higher mean than the normative group of normals. The same group of sports
persons suffering from anxiety disorder was retested after 12 weeks of psychotherapy. The post-test mean
was significantly lesser than the pre-test mean. The new Anxiety Inventory was comelated with an
established anxiety inventory and the correlation turned out to be 0.20. The norms of the imventory were

developed in terms of normalized T scores,

Sub questions

Question Number : 147 Question Id : 55213113440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

What can you infer about the internal consistency reliability of the new inventory?

Options :

Unsatisfactory internal consistency reliability
55213152785.

Satisfactory internal consistency reliability
55213152786.

Inadequate data in the above passage to infer about internal consistency.
55213152787.

Split-half reliability needs to be computed first to infer about internal consistency.
55213152788.



Question Number : 148 Question Id : 55213113441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

The above data indicate that the new inventory has

Options:

Unsatisfactory concurrent validity
552131527809.

Unsatisfactory parallel form reliability
55213152790.

Satisfactory concurrent validity
55213152791.

55213152792, Satisfactory parallel form reliability

Question Number : 149 Question Id : 55213113442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

What would be the median T score for the new Anxiety Inventory?

Options:

10
55213152793.

2)

55213152794,



50
55213152795.

Inadequate data on median T score.
55213152796.

Question Number : 150 Question Id : 55213113443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The above data indicate that the new nventory has

Options :

Unsatistactory construct validity
55213152797. .

Satisfactory test-retest reliability
55213152798.

Unsatisfactory test-retest reliability
55213152799.

Satisfactory construct validity
55213152800.



